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BRATS  BEAH EERZH BREH
- fmER - fEER BER
e b 2k 5 . Eih HEE aiE BE |En]  (HE Eth HEE pi:br ] HE |me| g=
RREUR @2 P N3AnsH & T Luast &
Eih HErE fiE ¥E |y {HE BN &R kg 74 150| {8
4N X INFILTY & R hiE E7HT 50| ke Rig 10 &
X5 ok & K#ER 144 50| {8 =& ¥ Yy4hst 50| @
KH7Y°3k 100| 18 HEX HoHE  [FEIAH & ] &
g XE 122 & Eig BiL INFIhY A, &8 200| {8 &a 10 50| {&
FE BHARE KF47V4k 70| @ =HE 74454 @ B 2,200 @
A {7Y5k L i 144, AVK'5 150| 1&
= WA IIYN5~TA 150| & HE45 R LWL 100| & HEEME
#E F5HK IIHNBA 300| f& EHE TV 8 100| {&@ #iE—
EBERS 2 FINTY 4k & IMEE VET)) 100| &
E 620 & [IERH] 445 100| 1@ Eth HEE i HE |me| g=
bR E TN 100| kg Z®5 EVERUL SE- 32 3,800| #&
EEEZR =] (=L 100| {& A% 150| &
KiE—ig X5 P& FEnes 100| kg BERES |[Winst -7 V% 1,000| &
blid:: 3 Wwadh)) 50| 1@ Koo EZARSN |EBAIF 300( &
Eih HErE fiE 2 |t {HE =8 XE Ahyt 100| {8 52 100[ &
EE 5 B5E Hi1 800| ke ERS B 100| 1@ Ficp ) BTy 550 #X
7t 100| kg W55 AL s 100| 1@ B®EN REMKS [FE52 500 kg
REAS = H5t 74 200| & == HIE 435 300| & 5 500 kg
HEsn AkBH |EIE 50| kg 45 150| 1@ 1,550 &
BESN EB ) Tk 60| {& £ 650 kg 4,350 #
EES BHE - 1,000( #& 4,400 &
HE TEE 15 4,000 & &5 4,400 kg
Bt 950 kg 7,480 &
260 {& . 5,550 Z
1,000 4% AERR 5,350
Eih HEE aiE HE |wa]  (HE
EEE=M Eig =k BRIV 45 100| kg
P | R S LHE FEETRS 200( kg
AR RAR K e EIE L ET ) 300| ke
i HEE iz BE |we] (EE H¥F FEETA, 425 800 kg
Eig LXK Y1) 4hot 500| 1@ 845 b 208 200| kg
AR YU4h, 7V°5 600| 1@ ALt B4, 55 300| ke
i 75 30 100| 1@ pol-] &7 kg
FEFS Yy4h5t 100| 1@ x5 EE EH ., ARRS 150| ke
s 100| 18 Iz&&E &4 kg
K4t YU4h. h7°5+ 100| {8 1= xR BARE, A2t5 200| kg
B YU4h, 7V°45 100| 1@ EiF PR kg
RE#ES 100| {& 1T FENE 50| kg
RS E5254 100| 1@ 5 2,300 ke
F5 5 Y2, 7715 100| 1@
B/ H YU4h. 7V4 100| & .
MEA 444, 44305 200| & R
B 100| kg Eih HEE iz HE |we] (EE
BER &EE7T 4,000( & 12 BE 454 1,000| {8
X5 E3#F ANE 200| {8 fiiEg s 500| 18
EEE 100| & HmEER &
E R 100| & Fitst 254 100| {&
kA 100| {& xR el =78 200| &
BES bl 300| ke H5 7V 150| &
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